SAP ABAP table ] 7LHPATH {REA: Hierarchy Path Customer Hierarchy for Splitting}

ADRP

CLIENT [CLNT (3)]
J 7LHPATH-ADRNP = ADRP—PERSN[{I\—/IBER N | PERSNUMBER [CHAR (10)]

—_—
—_

-7 DATE_FROM [DATS (8)]
-7 NATION [CHAR (1)]

. KNAl

K J 7LHPATH-KUNNR = KNAl-KEJl}I@P_{ _____ 0.N | MANDT [CLNT (3)]

KUNNR [CHAR (10)]

LFAl

J 7LHPATH-LIFNR = LFAI-LIFNR __ 4§ MANDT [CLNT (3)]
- LIFNR [CHAR (10)]

T000
0N | MANDT [CLNT (3)]

—_

TOO5

1 _ J7LHPATH-LANDI = TOO5-LAND1 -\ | MANDT [CLNT (3)]
LAND1 [CHAR (3)]

— THIT
0..N' "MANDT [CLNT (3)]
HITYP [CHAR (1)]

TPAR

0..N | MANDT [CLNT (3)]
PARVW [CHAR (2)]

VBUK
---------- MANDT [CLNT (3)]
VBELN [CHAR (10)]

VBUP
MANDT [CLNT (3)]

0..N | VBELN [CHAR (10)]

POSNR [NUMC (6)]

_—




